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udley ereser
B Register Number
m PART - 11 R
WU <s0ue / moroey — s007es:
(S mmguw <2pmidled euLfl / Tamil & English Versions)
Crid : 3 wenfl | [ G]'Lorrg_'r,g, wSlUGlueTgeT : 150
Time Allowed : 3 Hours | [Maximum Marks : 150
aWleyeer = * (1) A@arss elamsseEsnd sflurs uHaurd o drarsr aaTugman
sfluriggé Garearereyb. Faliudele @Gopul@mulea imns
gsansranflurerilLb 2 L angwrss Osfelésseayn.
(2) Hew sewg s@HLY ewuflamarn L HCLW rguSHEL LweaLDES
Cauar(Hid. UL miseT euenFeugn@ Guendled LweTUHESe L.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

GOILY : UGS - 1 srarelumayb, ugd - I deomdumayb safisseal
ellen_ssrafler aflenweaf&salth.

Note : Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate
answer-books.

U@S - 1 (smeureilwev) / PART - I (BOTANY)
(dlliGuentaer : 75) / (Marks : 75)
GOy : () Seensg clamssEnsEn el welldseb.
(i) eflwrer deLow Csibtsdss GO HLer e ulmanyn Csrss
6T (LS.

Note : (i)  Answer all the questions.

(if)  Choose the correct answer and write the option code and the cotresponding
answer.
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3336 2
Yfley - <=4 / SECTION - A
@My : (i) ADNGGI eeuTd:a (e és (&b eflen_waflésaib. 14x1=14
(i)  eflurer eflen_emuwig CoibOshss eT(ps)s.
Note : ()  Answer all the questions.

(i)  Choose and write the correct answer.

VL QruCLrendler SpHg QupLuLEHg.
(1) Guenfleellund  Qpm Gl b

(=) L QruiGLrenwflev  HfHwen

(8) WL QruCLrenwden <2 NCWI".Cud weren

(/) avl QriCLremwdey QeuefsCe

Streptomycin is obtained from

(@)  Penicillium notatum

(b) Streptomyces griseus

(c)  Streptomyces aureofaciens

(d) Streptomyces venezuelae

2rLriifled srawrerrede sreLRID  geseflen Camrymu erewraniéena:
(<31) 4,400 (<) 5,800 (@) 26,000 () 30,000

Approximate number of genes in Arabidopsis thaliana :
(a) 4,400 (b) 5,800 () 26,000 (d) 30,000

séamailuie) LEL same Corew: THUDSGIeuUG)
(<=1) @qa;(Bf;rrurra;LarﬂLum g Wi L% U wisieny
(<) eravQevAfr Carene

(8) Cuéldaey g fErdwendlen

(FF) vQLriGLrenndlany  HNAwaw

Crowngal disease in Tomato is caused by :

(a)  Agrobacterium tumefaciens

(b)  Eschericha coli

(¢)  Bacillus thuringiensis b

(d) Streptomyces griseus
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4. “srevurfwer UL enL_SerT &T 2155CHredled SresstL (h &l emeor.

(@) @oeilsfons grars sem@

(<) Qeilgdlevas sreuy Couit

(@) eoeilsfons srars s

(") Qmelsdamas sreur Gee

The casparian strips are found in the endodermis of ;
(a) Dicot stem

(b)  Dicot root

(c)  Monocot stem
(d) Dicot leaf

DNA-eflen @i enL &(mer wrglfleows efersHwcuiaar :

(=) aurlgenr wHmb Hfe (<) O.T. geufl wHmd & peder
(@) M98 (FF) evQLullenQuirs

Double helix DNA model was proposed by :

(@) Watson and Crick (b) O.T.Avery et al

(c) Griffith (d) Stinberg

Qeeumd  erhs Lmsefub  oCoreluree DBLILL TS sfmCarhmid
Qewiflmg ?

(<=1) eBLrCenrCGumrarmen (=) eorCemAuid
(8) HarrevigMiguwid (rr) er.Camenad

Which of the follou:ing bacterium oxidizes ammonia to nitrite ?
(a) Nitrosomonas (b) Rhizobium

(c) Closteridium (d) E. coli

Wlureor Limryig eflwirsreder @hel :

(1) Slevargs avuimgdev (<) QrefiGumen
(@) ureflsder (Fr) ewaCGuomeiv
The inflorescence of musa paradisiaca is

(a) Branched spadix (b) Racemase

(c) Panicle (d) Cymose

£l
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8.

10.

4

smbbde Qoo Sacfle CO, gposamm gnll Qg : o
(<) RUBP

(<=2p,) urevGurFeamTe eUHells Sidleid

(@) PGA

() &seCarfliigs blan

CO, acceptdr molecule in the Mesophyll sugarcane 18

(a) RUBP
(b) phosphoenol pyruvic acid
(c) PGA

(d) oxaloacetic acid

B[O Broy wHmb Uss Broyseier g wepser Bim plser  smemriL(HiD
STaUrLd

(=) Gererand GuemepglerT
(<) LM @rm QoL e

(@) Qererand srTHCsTHMTULD
() Qui@efwur ean@flm

In which of the following plants the midrib and veins are found with yellowish
spines ?

(a) Solanum melongena

(b) Datura metal

(c) Solanum Xanthocarpum

(d) F‘etgnia hybrida

Qevamus salss ADS@ETLEL I STEUTRISET EpsasaTL @eunmar
@uLib CQumib :

(<=1) wrGanrderaniol Gul (=) e@elddlenas sreurd
(@) CaGurulLrGe () wrelQuiLrGeo

Plants having flowers with free petals are placed under :

(a) Monochlamydeae (b) Monocotyledons

(c) Gamopetalae (d) Polypetalae




&

11.

12,

13.

14.

5 3336

‘eldaid’ sreursdler @m@erH@LWLIT :

(<) Si&Tadlum Glarig s (=) gdléd rTlevmen

(8) 8flsav (@eurl prii@arien (FF) ewCrer yosr

Bionomial of ‘Vilvum' is : -

(@) Acalypha indica (b) Aegle Marmelos
(c)  Cissus quadrangularis (d) Mimosa pudica

ENFLLD  WOMILD ool Cermuid LA weupBHE e Gu Cewlws demaeud
Qsrapr curev@em SHenm QUTEV@GETT  SHEnD 6TearLIL(HILb.

(1) epgw () 2arCprad)

(&) dvps (7) GeuefiGprad

Vascular bundle with cambial tissue is between xylem and phloem is called
vascular bundle.

(a) closed (b) endarch
(c) open (d) exarch

Bt @Lib wrHBweLEsSILC L &CLrGuorerrey g
(<) enrrCuwrener Carpmielsdns

(=) 219 erHiQurmener Corpmieilssng

(8) séer cramQemenws Hwssdng

(FF) emeneawT &L RO L3S

Pseudomonas putida is a engineered bacterium that can :

(a) produce a Qarmone

(b)  produce an antibiotic

(c) digest crude oil slick
(d) pollute the soil

Asomu® eueerey amruLgflad elmreurar aeriéd Heae 8eusurm
GOl LLGSpg)

(<) Clog Fleva (<) flevray Hlane

(8) euerieu_mdlu Hlena . (F) Bleveotiumr e Hleva
In sigmoid curve the rapid growth phase is designated as :

(a) lag phase (b) log phase

(c) dormant phase (d) steady state phase

[ Ssliys / Turn over
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GOUY : gCaeID T A& EHEE e wef&sa|id. ' 7x3=21

6

19fey -y / SECTION - B

Note : Answer any seven questions.

15.

16.

17.

18.

19.

20.

21.

22.

23,

24.

HarrCLr() erempred erame ? THSSHSTH SHE-

What is cladode ? Give an example.

wUsriaUOGrGL - AnGHiuy euers.

Write short notes on Bicarpellatae.

LrelGal  LIMemensDTenal, GoLITEhs) LirrerensLoredadl(hHal Caumu(H551S-

Differentiate palisade parenchyma from spongy parenchyma.

Carand Garaammsorelen LLID euebEl LITEHISmETS @NESE|LD.

Draw and label the structure of angular collenchyma.

555 RNA (+-RNA) fen eI LULLD QUeTHS) LTGhEmeTS GDSESaD.

Draw and label the structure of t-RNA.

seliL] DNA eneu o (HEUTHE@GUS® FHUED GpTHser wTeme ?

Name the enzymes involved in the making of a DNA Hybrid.

SpHDE WD - el

Define active centre.

Syl SpHE erenpred Grene ?
What is Kreb’s cycle ?

BerLge SreurLd GTMMTE Gremen ? o GTYERID SH(HS.
What are called long day plants ? Give an example.

LpsSuder GeEID ppenm QuUTHETTSTT WEHWLSHIUGDS T (RS-

Write any three economic importance of cotton.
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Yfley - & / SECTION - C

@Oy : (1) erewauCuenid mrew@ eSlammasEhsE e welldsea)b. efert ereir

25-5@ samiqliurg eflenLweaflds Geuent(Hw. 4x5=20

(i) Coemeuwren @ misafled LLLD GuETLIGYLD.

Note : (i)  Answer any four questions including question no. 25 which is compulsory.

25.

26.

27.

28.

29,

30.

31.

(ii) Draw diagrams wherever necessary.

ufliGergenen cuensuT_igemet euemywm. edlfleuren @@Dq 6T (PGS

Define Biosystematics. Briefly write a note on it.

FOOML GG Famser - fAm GHlUL euamrs.

Write short notes on sieve elements.
Germinguien (p&Slwggeumiger UDDH eT(HSIS.
Write the significance of ploidy.

wryu Gumrmlsemer @L D wrHdl Sepwliuger Uwerseaie GCHEID Bhens
(PG!S,

Write any five practical application of genetic transformation.

s gafiUrevufsyaod, sweor geflursvufsyeamd CounLBHsgs.

Write the difference between cyclic and non cyclic photophosphorylation.

Coammdlar seurswrafl Carsameranw cflemd@s.

Explain Ganong's respiroscope experiment.

i

sreury LWt CQumsssden GHlsCarearaser wreneu ? (gFCGasend @B )

Write the aims of plant breeding (Any five), . G SEry

[ Slpliys / Turn over
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Ylfley - /= / SECTION - D

@Oy : () erameuCueyid @re(® efaTssEnéE eflenwaflsse,b. 2x10=20

(i) Speeuwirer QL msalled LLLD aumFLeyw.

Note : (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. eanGevsev -Grrevr- eneQeneandlen sreursms smasbarpaer (peld edleuil.

Describe Hibiscus rosa-Sinensis in botanical terms.

33. melsdmassrely Ceuflar wad Hlaw mwlmu elaufl.

Describe the primary structure of a monocot root.

L

34. graursde eueriifen SigliueL Gewe [ ukisemar efloufl.

Write about the basic techniques of plant tissue culture.

35. ysadlan, gllrelen - eurpeiiwed elleneTalsemar (PG!S

Write the physiological effects of auxins and gibberellins.
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o LGS - 11 (2_u9i-efevoridluisv) / PART - II (BIO-ZOOLOGY)
(wduGuertaer : 75) / (Marks : 75)
9ifley - oy / SECTION - A
@MUY : ()  emesgl clamssErs@n el wallésab. 16x1=16
(i) sflurear el s CaibEsDss eT(pseyb.
Note : (i)  Answer all the questions.

(ii) Choose and write the correct answer.

1. Spssan eruu@d 2 ulflwe Qerréssn’ aar vmwssiiLGdng ?
(<=1) wewrarmi cuener@Lm 2 ulflwed LmisT
(=) Boodlfl o u@flwed Lmisr
(&) ppsT Cgel
(rr) Bl&Carumit
Which is commonly considered as a biologist’s paradise ?
(a) Gulf of Mannar Biosphere Reserve
(b)  Nilgiri Biosphere Reserve
(¢) Nanda Devi
(d) Great Nicobar

2. ereal pLTHL Yyl Gummer erariu@Eng ?
(=) Yermevdl_ser (<) el
(@) umrr 2 mitiy (/F) Lygretey GuUmrgmesger
What is the name for mobile genetic elements ?
(a) Plasmids (b) Pilli
(c) Barr body (d) Transposons

3. eaaumsurar Csre @l (b Wameavigsds simeme Adsmsuien 2 LCursl
u®Emg ?

(=) QCarmdlymil (<=1,) i@Cardlmil
(@) < Crrdlymil (/) sCardlymil
Which type of graft is used in plastic surgery ?
(a) Xenograft (b)  Allograft
(c) Autograft (d) Isograft

B o

[ SmLiys / Turn over
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4. srOALD o HEHese WHDID craubLseiion Gesfgga Cure Gmmm&@;aﬁr-
T Qaruiyew epeul L len ergl ? )

(<=1) eul L8l A (<2p) eveul_L1fle C

(@) eweul_Lblewr D () eweulLflen E

Which vitamin is associated with calcium absorption and deposition ?
(a) Vitamin A (b) Vitamin C
(c) Vitamin D (d) Vitamin E

5. @fCGurEgGrriey Quresrbllsd @ amLEHD aTHsmar (pmp Qe
. Qu@ssd Csldng ?

(1) 3 (=) 4 (@) 6 () 8

The number of times Oreochromis mossambicus breeds in a year is :

@) 3 (b) 4 € 6 d) 8

6. clwm@seaiar soadrdlgibd , gmssaiigd o drar smiHEsTEsmY -
(1) @sLigen (<) Qusigem
(@) CeoayGaren () denersGamagen

The polysaccharide found in liver and muscle is :

(a) Lhitin (b) Pectin (c) Cellulose (d) Glycogen

7.  emorisslen “QUDD LIGRTL| WFLL LGRTUTSE” eremLig] |
(=) s oS (<) @raLmd el
(@) eperpmd el () prensmd el
Lamarck’s Inheritance of Acquired Characters is :

(a) The First Law (b) The Second Law
(c) The Third Law (d) The Fourth Law




10.

11..

e e —— -

11 - 3336

Gpmi e @ ré@ eran_Bur aflevGLrellysT Hleve wrg ?
(=) 2ap Qarar evGuTTgeT '
() 2L eugeumser jevag HCrmGurGemii ser

(@) BCrrGemil_ser

(rF) emseTaTQEaT

The pathogenic form of Entamoeba histolytica is :

(a) Encysted spores

(b) Vegetative trophozoite

(¢) Merozoite

(d) Schizont

@NL Qedsar 2 pusduier LweTu@RSFLUURL eTHs QU BEss
geewewd UpmiChrewib gamHib @ueaLd Csrer g ?

(1) Hedlame (=) sriflwib

(@) Cemguwib () Sdlaflwib

One of the following is used in fabricating solar cells, that is poisonous and a possible
carcinogen?

(a) Silicon (b) Cadmium
(¢) Sodium (d) Aluminium

Qs feuliugnssmer samsdL 2 saybd Bis@n Hreul

(=1) anGuibev Flyeud (=) L& dreud

(@) Lmisenr Slyeuld (FF) @865 36y Hreud
RBC diluting fluid to count blood cells is :

(@) Hayem'’s solution (b) Turk’s solution

(c) Toisson solution (d) Isotonic solution

2 g eums &g GCaammsgeaeamw UG Hagaumcugrd ghuBHng?

(=) sraaflwim (<) BH&ECQsEN

(@) Gsel Brdy () QeefldEpm

Sensory hearing loss is due to the damage in the :

(a) Cochlea (b) Middle ear

(c) Auditory nerve (d) Auditory meatus

- [ Slpliyss / Turn over
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12.

13.

14.

12

Camflésmayer euariiiy Qalpennuie wpleuler erpgluEd meuravsafien
euaTT&fl&Canm 2ar_slors HMHsLILBE DS ?

(=) Cleudrenend &m (31,) WEREET (T

(8) smejemma s U (7) &@55-0

According to chicken embryo technique, which part of the egg is the general ideal
medium for the growth of virus ?

(a) white yolk (b)  yellow yolk
(¢) yolk sac (d) blastodisc

walgalar o L pECrmCurGentle sramiu@b @hiE gallame ghu@D
Crmus :

(=1) sredllwm

(<) Siarigmil_L e Glamilwr

(@) edlalsb

(FF) shHew gl Cpmi erdiliys @Gamey Her Gymb

The disease caused by an autosomal dominant gene, in human is :

(a) Thalassemia

(b) Huntington’s chorea

(¢) Albinism

(d) Severe combined immuno deficiency syndrome

“ol”eren g6l @ pheusred ghuGSDg :
(=) giflud sureay

(<) Qauam_fg@eort eumeey

(@) gfCur Geuer_Ms@erT cureey

(FF) iewrendly eumedey

The sound “Lubb” is due to the closure of :

(a) Atrial Valve

(b)  Ventricular Valve

(c) Atrioventricular valve
(d) Semilunar Valve
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157 vaflsfle Crhey Cpmises el sOLUYSHows s Bliseut wri ?
(<=1) @rrur’. Gsng (=) Cgrels edlevLi
(@) el urevLi (/) evGLemed

Who initially developed the vaccine for rabies in man ?
(a) Robert Koch T (b) Joseph Lister
(c) Louis Pasteur (d) Stanley

16. Epssramid Ls Qamhseie ersemienL W Lrelled oifls sCrTig 6 s5g) sl

LB Emg ?

(=1) Apd anib (<=4) anflwrerr Gerib

(@) édlir @embd (rF) Gmirél @embd

Which one of the following cow’s milk is characterized by high carotene content ?
(a) Sindhi (b) Haryana

() Gir (d) Jersey

Nfley -9y, / SECTION - B

Gy : erenauGugyib 1@ eflanmés@péE W En efeL weldseyib. 8x3=24
Note : Answer any eight questions.
17.  wrewr efllenpliy eremmmed eremar ?

What is Rigor Mortis ?-‘

18. REM 2 p&&d eretimmed erevmesr ?

What is meant by REM sleep?

19. “@& %apHCrrCurentélev” erammred eremer ? THSSISESTL(H Hms.

What is meant by Zooanthroponoses ? Give an example.

[ &mlys / Turn over
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20.

21.

22.

24.

25.

26.

27,

28.

14
wanafdler Laflsar gCaab epaleaner 6T(pg)-
Write any three functions of spleen.

GCamlIL_6EET ETENDTed Greer ?

What are haptens ?

-

georfuslwr GrTGSTe IHESIeEm L ADGDE®ET 6T

Write the clinical manifestations of Thalassemia.

CafGuIreL Gk -ar @re® LWesmers &)

L]

Mention any two uses of Karyotyping.

afCGur@Germien gpadaablen iemwlbemer udHDl 6THSI-

Write about the structure of haemoglobin molecule.

o WAL LIGEIGSEMLD GTETMmTE) Gremen ?

What is bio-diversity ?

&% CrmUDD HEOLOTET ST B G0 creueuT SewTLHleug ?

How will you identify a diseases free healthy cattle ?

Qewpers ApSI-LEHen penenser Wramal ?

What is the significance of artificial insemination ?

anriy - elen@uirs eflflenw @D

Define Hardy-Weinberg's law.
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Yifley - @ / SECTION - C

GOILY : gCaaib epeimy eflenrés@nd@ ofenLwefl. @eunmer elenr ereir 31-&

samg LIuns el welgsd Geuamm@Lb, 3x5=15

Note : Answer any three questions including question no. 31 which is compulsory.

29.

30.

31.

32.

33

Qows sos pHoypd Crmissrer oUTWLE Srraflsmand FaMm.

« Enumerate the risk factors of Myocardial infarction.

Cauglls Aunraer Sléams eranprar eremer ? g HAphs Cougls Sldlsens wmpar
LarLsenar eflemds@s.

What is called Chemotherapy ? What are the good characteristics of Chemotherapeutic
agent ?

Crmise eTlims waoflons sHULTHHESD efleThiGd 2 araTeiolILE sTihS
L&er LHOID 2 L HAswualwd srihs gL gasryentlear LHHl elerées.

Describe the anatomical and physiological barriers in the first line of defence against
diseases. s

L

HT& Wil wHmbd e Lweasmar Lb eflend 5.

Explain the protein model and its uses.

Leb@iHeuenioliemuls  Libil &mi@bliiyy (PSS

Write short notes on polymorphism.

[ $lmiys / Turn over
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-
9fey /= / SECTION - D :
GOy : aravauCueid @rewr® cleamés@nsE w b e wefl. 2x10=20

Note : Answer any two questions.

-

34. euGd Gyl LMl sruQuiear apriGuoreanser, ueaflaear LpHl efleurf].

Describe the Hormones and its function of anterior pituitary gland.

35. meguire seure Hspsflamer Ll igual G gmeart UL ggiLear afleurl.

List out the several processes of Respiration. Explain them with suitable diagram.

36. “CGaren ef Qupamswrear GilwugsamL " eearumgub, @bsrar @uumus
shuusnsTar euflpepnsmeTud eleréEs.

“Ozone as a natural sun block” - Discuss and also list out the ways of preventing
Ozone depletion.

37. Garf Geps eaeriiiy weanuler flowsar upP TWES. GEhESET
QUETTESNG@S Coanauirer srrautser rGCe@id @) Teiy.ener 6T(LpSIs.
Explain the important stages in Rearing and write any two factors involved in brooding
of chickens.

-000-




